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1 [l 149 49| 198 4796 87| 4883 19 4960 140| 5,100
2| bl 17 6] 23 197 14| 211 214 20 234
3| XEM 28 12| 40 649 21 670 679 34 713
4 |EATm 47 3| 50 418 11| 429 47 17 488
5 |#Hli 12 11 23 21 6 33 39 17 56
6 |RART 16, 5] 21 332 15| 347 348 20 368
|7 |BIERS 4 4 8 3 11 3 11 7 18
Wi s |ysmar 5 5 43 5 48 48 5 53
9 [ LT 18 2 20 18 2 20
10|57 4 Ay 2 2 39 19 58 39 21 60
11|88 )I[HT 3 3 3
12|38 BT 12 12 12 12
13| KSLHET 3 3 4 4 7 7
14| X & mET 1 1 1 1
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28|/INEHT 1 4 5 2 4 6 3 8 11
29| B EHT 3 3 24 24 27 27
30| AR L2 T 2 2 42 3 45 8 47 8 55
31|#GRE 34 46| 80 204 76| 280 4 242 122 364
32|/BAT 17 13] 30 299 18| 317 7 323 31 354
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35/ st AT 5 5 210 12 2 15 17
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